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BmER fep T 1 1 fthHT 2 36
BmER fep T 1 3 fehiET 2 36
BmER fep T 1 3 fehiET 2 38
EER frhiET 1 4 fehiET 2 37
EEIR R T 1 5 R T 2 37
BmER fep T 1 7 fthHT 2 37-2
BmER fep T 1 11 fehiET 2 40
BmER fep T 1 11 fthHT 2 40-2
BmER fep T 1 12 fehiET 2 40
EER fep T 1 13 fehiET 2 47
EER fep T 1 15 fehiET 2 44
BmER fep T 1 17 frhiET 2 45
BmER fep T 1 18 fehiET 2 45
BmER fep T 1 19 fehiET 2 51
BmER fep T 1 21 fehiET 2 50
EER fep T 1 24 frhiET 2 45
EER fep T 1 29 fehiET 2 50
EEIR R T 1 31 R T 2 46
BmER fep T 1 33 fehiET 2 43
BmER fep T 1 34 frhET 2 42
BmER fep T 1 34 fthHT 2 42-3
BmER fep T 1 35 fehiET 2 42
BmER fep T 1 35 fehiET 2 42-4
EER fep T 1 36 fehiET 2 40
BmER fep T 1 471 frhiET 2 36
BmER fep T 2 2 fthHT 2 59
EER frhiET 2 4 fehiET 2 59
BEER frhiET 2 4 fehiET 2 59-5
BmER fep T 2 12 fthHT 2 61
EER fep T 2 13 fehiET 2 63
EER fep T 2 13 fehiET 2 63-1
BmER fep T 2 14 frhiET 2 63
BmER fep T 2 16 frhET 2 70
EER fep T 2 19 frhiET 2 70
BmER fep T 2 22 fthHT 2 67
BmER fep T 2 24 frhET 2 68
EER fep T 2 25 fehiET 2 68
BEER fep T 2 28 fehiET 2 52
BmER fep T 2 30 fehiET 2 52
EEIR R T 2 31 R T 2 54
EEIR R T 2 32 R T 2 67
BmER fep T 2 33 fehiET 2 55
EER fep T 2 35 fehiET 2 55
EER fep T 2 36 fehiET 2 55-1
EEIR R T 2 37 R T 2 56
BEER fep T 2 39 fehiET 2 58
EER fep T 3 6 fehiET 2 81
EER fep T 3 9 fehiET 2 77
EER fep T 3 10 fehiET 2 83-1
EER fep T 3 13 fehiET 2 83
BEER fep T 3 14 fthHT 2 87
EEIR R T 3 15 R T 2 87
EEIR R T 3 16 R T 2 87
EER fep T 3 17 fthHT 2 87
EER fep T 3 18 fehiET 2 86
EER fep T 3 19 fehiET 2 74
EER fep T 3 20 fehiET 2 74
EER fep T 3 21 fthHT 2 72
EER fep T 3 25 frhiET 2 73
EER fep T 3 25 frhiET 2 75
EER fep T 3 26 frhiET 2 75
EER fep T 3 28 fehiET 2 77
EER fep T 3 28 frhiET 2 78
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BmER fep T 3 29 frhET 2 79
BmER fep T 3 29 fep T 2 79-5
BmER fep T 3 30 fep T 2 79
EEIR R T 4 1 R T 2 94
EEIR R T 4 2 R T 2 95
BmER fep T 4 17 frhiET 2 88
BmER fep T 4 25 fep T 2 88
EEIR R T 5 1 R T 2 96
EEIR R T 5 2 R T 2 96
EER fep T 5 3 fep T 2 101
EEIR R T 5 4 R T 2 101
BmER fep T 5 11 fep T 2 106
BmER fep T 5 16 =] 270
BmER fep T 5 17 =1 273
HEEIR T 5 18 = T 274
HEIR T 5 19 = W7 274
EEIR R T 5 20 R T 3 61
EEIR R T 5 21 fep T 3 61
EEIR R T 5 22 fep T 3 61
BmER fep T 5 23 frhET 3 60
BmER fep T 5 24 frhET 3 60
BmER fep T 5 25 frhET 3 60
EEIR R T 5 25 R T 3 60-2
EER fep T 5 27 fep T 2 108
BmER fep T 5 27 fep T 2 109
BmER fep T 5 28 fep T 2 109
EER fep T 5 29 fep T 2 109
BEER fep T 5 30 fep T 2 109
BmER fep T 5 30 fep T 2 110
EER fep T 5 33 fep T 2 110
EEIR R T 5 34 R T 2 110
BmER fep T 5 35 fep T 2 110
BmER fep T 5 471 frhET 2 99
EER fep T 5 42 fep T 2 97
BmER fep T 5 43 fep T 2 97
BmER fep T 5 43 frhET 2 99
EER fep T 5 A4 fep T 2 97
EEIR R T 5 44 R T 2 99
BmER fep T 5 45 fep T 2 97
EER fep T 5 45 frhiET 2 99
BEER fep T 5 46 fep T 2 97
BmER fep T 5 46 frhiET 2 99
EER fep T 5 46 fep T 2 100
EER fep T 5 47 fep T 2 110
EEIR R T 6 2 R T 2 98
BEER fep T 6 3 fep T 2 98
EER fthHT 6 5 fthHT 2 111
EER fthHT 6 8 fthHT 2 111
EER fthHT 6 10 fthHT 2 111
EER fthHT 6 12 fthHT 2 111
BEER fep T 6 13 fep T 2 99
EEIR R T 6 14 R T 2 98
EEIR R T 6 17 R T 2 98
EEIR R T 7 2 R T 2 116
EER fthHT 7 3 fthHT 2 117
EER fthHT 7 5 fthHT 2 117
EER fthHT 7 5 fthHT 2 117-1
EEIR R T 7 6 R T 2 118
EEIR R T 7 7 R T 2 120
EEIR R T 7 8 R T 2 120
EER fep T 7 10 frhiET 3 59
EER fep T 7 11 frhiET 3 59
EER fep T 7 15 fep T 2 118
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BmER fthHT 7 17 fthHT 2 117
BmER fep T 7 17 fehiET 2 117-1
BmER fep T 7 19 fehiET 2 116
EER fep T 7 21 fehiET 2 116
BEER fep T 7 22 fehiET 2 116
BmER fthHT 8 2 fthHT 2 114
BmER fep T 8 3 fep T 2 115
EEIR R T 8 4 R T 2 114
BmER fep T 8 5 fep T 2 115
EER fep T 8 6 fep T 2 114
EER fep T 8 6 fep T 2 115
EEIR R T 8 7 R T 2 116
BmER fep T 8 10 fehiET 2 116
BmER fep T 8 11 fehiET 2 116
BmER fep T 8 12 fehiET 2 115
EER fthHT 8 15 fthHT 2 114
EER fep T 8 15 fehiET 2 115
EER fep T 8 15 fehiET 2 116
BmER fep T 8 16 fehiET 2 116
BmER fep T 8 17 fehiET 2 113
BmER fep T 8 18 fehiET 2 113
BmER fep T 8 20 fehiET 2 113
BmER fep T 8 21 fehiET 2 113
EER fep T 8 22 fehiET 2 113
BmER fthHT 8 25 fthHT 2 112
EEIR R T 9 2 R T 2 119
EER fep T 9 3 fep T 2 119
EEIR R T 9 4 R T 2 119
EEIR R T 9 4 R T 2 120
EER fep T 9 5 fep T 2 120
EER fep T 9 6 fep T 2 120
EEIR R T 9 7 R T 3 59
BmER fep T 9 8 fep T 3 59
EER fep T 9 9 fep T 3 59
BmER fep T 9 10 fehiET 3 59
EEIR R T 9 11 R T 3 59
EEIR R T 9 12 R T 3 59
BEER fep T 9 13 fehiET 2 120
BmER fep T 9 14 fehiET 2 115
EER fep T 9 15 fehiET 2 119
BEER fep T 9 16 fehiET 2 115
BmER fep T 9 19 fehiET 2 115
EER fep T 9 19 fehiET 2 120
EER fep T 9 20 fehiET 2 115
EER fep T 9 20 fehiET 2 119
BEER fep T 9 20 fehiET 2 120
EER fep T 9 21 fehiET 2 119
EER fep T 9 22 fehiET 2 119
EER fep T 9 23 fehiET 2 117
EER fthHT 10 6 fthHT 2 117-1
BEER fep T 10 20 fthHT 2 123
EER fep T 10 21 fthHT 2 123
EER fep T 10 22 fthHT 2 123
EER fep T 10 23 fthHT 2 123
EER fep T 10 25 fthHT 2 123
EER fep T 10 26 fthHT 2 124
EER fep T 10 28 fthHT 2 124
EER fep T 10 31 fthHT 2 123
EER fep T 10 32 fthHT 2 123
EER fep T 10 35 fehiET 2 113-2
EER fep T 10 36 fehiET 2 121
EER fep T 10 38 fehiET 2 113
EER fep T 11 1 fthHT 2 144
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eI I 1 T 5 126
BERE  |FE 11 > TR > 144
BEE  |FE 11 3 TR > 123
BERE  |FE 11 3 TR > 144
BERE  |HE 11 7 TR > 122
BERE  |HE 11 3 TR > 141
BERE  |HE 17 10 TR > 141
BERE  |FE 17 1T TR > 141
BERE  |FE 17 7 TR 7 133
HER {7 11 13 {th T 2 138
BERE  |HE 17 17 TR > 137
BERE  |HE 17 5 TR > 137
BERE  |FE 17 16 TR > 137
BERE  |HE 17 17 TR 7 133
HEER {7 11 18 {th T 2 133
HEER {7 11 20 {th T 2 133
BERE  |HE 17 o1 TR > 126
BERE  |HE 17 >3 TR > 126
BERE  |HE 17 54 TR > 126
BERE  |HE 17 2% TR > 128
BERE  |FE 17 % TR > 129
HEER {h T 11 28 {th T 2 130
BERE  |FE 17 28 TR > 164
HER {7 11 29 {th T 2 130
HEER {7 11 30 {7 2 131
BERE  |HE 17 31 TR > 131
BERE  |HE 17 3 TR > 132
HEER {7 11 33 {7 2 132
HEER {7 11 34 {th T 2 135
HER {7 11 35 {7 2 135
HEER {7 11 36 {7 2 132
HEER {7 11 39 {7 2 136
HEER {7 11 40 {th T 2 139
BERE  |HE 17 70 TR > 140
BERE  |HE 17 i TR > 120
BERE  |FE 17 7 TR > 125
BERE  |HE 17 73 TR > 125
BERE  |HE 17 74 TR > 1447
BERE  |HE 12 1 TR > 129
BERE  |HE 12 > TR > 128
BERE  |HE 12 3 TR > 128
BERE  |HE 12 7 TR > 47
BERE  |HE 12 7 TR > 128
BERE  |FE 12 5 TR > 174
BERE  |HE 12 5 TR > T,
BERE  |HE 12 5 TR > 471
BERE  |HE 12 5 TR > 77
BERE  |HE 1 10 TR > 152
BERE  |HE 1 1T TR 7 153
BERE  |HE 1 7 TR 7 153
BERE  |HE 1 13 TR > 157
BERE  |HE 1 17 TR > 157
HER {7 12 15 {th T 2 159
HEER {7 12 16 {th T 2 159
BERE  |HE 1 17 TR 7 160
BERE  |HE 1 19 TR > 161
BERE  |HE 1 o1 TR > 161
BERE  |HE 1 5T TR 7 163
BERE  |HE 1 >3 TR 7 163
HER {7 12 23 {th T 2 163
BERE  |HE 1 2 TR > 164
HER {7 12 25 {th T 2 165
HER {7 12 26 {th T 2 165
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eI T 57 T > T80
HEER {7 12 28 {th T 2 166
HEER {h T 12 30 {h T 2 167
HEER {7 12 33 {7 2 162
BERE  |HE 17 3 TR > 162
HEER {7 12 36 {7 2 155
HEER {7 12 37 {th T 2 156
HEER {7 12 38 {7 2 155
HEER {h T 12 39 {h T 2 155
BERE  [FE 1 70 TR > 154
HER {7 12 40 {th T 2 156
BERE  |HE 1 i TR > 1547
BERE  |FE 1 7 TR > 151
HEER {7 12 43 {th T 2 150
BERE  |FE 1 75 TR > 149
BERE  |FE 13 1 TR > 210
BERE  |HE 13 5 Gl 7 517
BERE  |HE 13 7 TR > 511
BERE  |HE 13 17 TR > 2101
BERE  |HE 13 17 TR > 517
BERE  |FE 13 17 TR 7 206
BERE  |FE 13 o1 TR 7 200
BERE  |FE 13 >3 TR 7 200
BERE  |HE 13 2 TR 7 200
BERE  [FE 13 % TR 7 200
BERE  |HE 13 57 TR > 201
BERE  |HE 13 28 TR > 201
BERE  |HE 13 29 TR > 201
BERE  |HE 13 29 TR > 200
HER {7 13 30 {7 2 202
HEER {7 13 32 {th T 2 203
HEER {7 13 33 {7 2 221
HEER {7 13 35 {7 2 221
HER {7 13 36 {7 2 222
BERE  |HE 13 37 TR > 527
HEER {7 13 38 {7 2 236
BERE  |HE 13 1> TR > 57
BERE  |HE 13 73 TR > 527
BERE  |HE 13 74 TR > 527
BERE  |HE 13 75 TR > 57
HEER {7 13 45 {7 2 222-1
BERE  |HE 13 76 TR > 219
BERE  |HE 13 17 TR > 517
HEER {7 13 48 {7 2 217
BERE  |HE 13 79 TR > 219
HEER {7 13 50 {7 2 217
BERE  |HE 13 51 TR > 517
BERE  |HE 13 52 TR > 514
HEER {7 13 53 {7 2 213
BERE  |HE 17 1 TR > 243
BERE  |HE 17 7 TR > 243
BERE  |HE 17 5 TR > 2432
BERE  |HE 17 17 TR > 240
BERE  |HE 17 7 TR > 243
BERE  |HE 17 5 TR > 547
BERE  |HE 17 16 TR > 541
BERE  |HE 17 17 TR > 2377
BERE  |HE 17 17 TR > 541
BERE  |HE 17 18 TR > 241
BERE  |HE 17 19 TR > 237
BERE  |HE 17 20 TR > 237
BERE  |HE 17 54 TR 7 738
BERE  |HE 17 2% TR > 237
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HEER {7 14 25 {th T 2 238
BERE  |FE 17 % TR > 541
BEE  |FE 17 57 TR 7 239
BERE  |FE 17 57 TR > 240
BERE  |HE 17 28 TR > 240
BERE  |HE 17 29 TR > 240
HEER {7 14 30 {7 2 243
BERE  |FE 5 1 TR 7 23%
BERE  |FE 15 > TR > 234
BERE  [FE 5 3 Gl 7 234
BERE  |HE 15 T TR > 234
HEER {7 15 8 {7 2 223-1
BERE  |FE 15 5 TR > 223
BERE  |HE 15 19 TR > 229
BERE  |FE 5 o1 TR > 229
BERE  |FE 5 54 TR > 231
BERE  |HE 15 28 TR > 234
BERE  |HE 15 29 TR > 234
HEER {7 15 30 {7 2 235
BERE  |HE 16 > TR 7 To5
HEER {7 16 3 {7 2 195
BERE  |FE 16 T TR 7 EE
BERE  |FE 16 T TR 7 196
BERE  |HE 16 T TR > 197
BERE  [FE 16 5 Gl 7 197
BERE  |HE 16 7 TR > 197
BERE  |HE 16 g Gl 7 197
BERE  |HE 16 5 Gl 7 197
BERE  |HE 16 T TR > 192
BERE  |HE 16 7 TR > To1
BERE  |HE 16 13 TR 7 183
BERE  |HE 16 13 TR > To1
BERE  |HE 16 1 TR 7 183
BERE  |HE 16 16 TR 7 183
BERE  |HE 16 17 TR 7 183
BERE  |FE 16 18 TR 7 189
BERE  |HE 16 19 TR 7 189
BERE  |HE 16 o1 TR 7 189
BERE  |HE 16 >3 TR 7 193
BERE  |HE 16 23 TR 7 193
BERE  |HE 16 54 TR > 194
BERE  |HE 16 2% TR > 197
BERE  |HE 16 % TR > 197
BERE  |FE 16 57 TR 7 EE
BERE  |HE 17 1 TR 7 163
BERE  |HE 17 > TR 7 163
BERE  |HE 17 3 TR 7 163
BERE  |HE 17 7 TR > 71
BERE  |HE 17 5 TR > 71
BERE  |HE 17 5 TR > 172
BERE  |HE 17 5 TR > 71
BERE  |HE 17 5 TR > 1701
BERE  |HE 17 5 TR > 77
HEER {7 17 10 {th T 2 180-6
BERE  |HE 17 1T TR 7 180
BERE  |HE 17 7 TR 7 185
BERE  |HE 17 17 TR 7 185
HER {7 17 15 {th T 2 186
HER {7 17 16 {th T 2 186
BERE  |HE 17 20 TR > 187
BERE  |HE 17 o1 TR > 179
BERE  |HE 17 23 TR > 178
BERE  |HE 17 54 TR 7 169
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eI T 53 T 5 178
BERE  |FE 17 5 TR > 1752
HEER {h T 17 25 {th T 2 169
BERE  |FE 18 1 TR > 173
BERE  |HE 18 3 Gl 7 173
BERE  |HE 18 3 Gl 7 174
BERE  |HE 18 T TR > 174
BERE  |FE 18 5 Gl 7 174
BERE  |FE 18 >3 TR 7 183
BERE  [FE 18 54 TR > 173
BERE  |HE 18 2% TR > 173




